8.3 The Sine Ratio w quiz - B3.notebook December 08, 2015

Starter

Use the tangent ratio or the inverse tangent to solve
for x in both right triangles below - this will help you
get ready for your quiz on tangent you'll have later in

the week!

Feb 27-8:47 AM
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The Tangent Ratio Content Mastery Quiz

*Show all work*

Use the tangent ratio to solve for x.

. | decimal place

6 ft
80"

Dec 2-8:31 AM
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o—— The Sine Ratio

8.3

PG.595-596 IN YOUR BOOK

Each golf club in a set of clubs is designed to cause the ball to travel different distances and
different heights. One design element of a golf club is the angle of the club face.

You can draw a right triangle that is formed by the club face angle. The right triangles formed
by different club face angles are shown.
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1. How do you think the club face angle affects the path of the ball?

The laraer the cluwbo face angle, the
higher +he ball goes

2. For each club face angle, write the ratio of the side length opposite the given acute
angle to the length of the hypotenuse. Write your answers as decimals rounded to the

nearest hundredth Q. S\Y\ ?)F)
NOPAE 'qu
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Sep 14-9:16 AM
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PG.597 IN YOUR BOOK

3. What happens to this ratio as the angle measure gets larger?

The sine (sin) of an acute angle in a right triangle is the ratio of the length of the side
that is opposite the angle to the length of the hypotenuse. The expression “sin A” means
“the sine of £A.”

4. Complete the ratio that represents the sine o

length of side opposite /A l?f/
length of hypotenuse P(\

sind =

5. For each triangle in Problem 1, calculate the sine value of the club face angle.
Then calculate the sine value of the other acute angle. Round your answers to
the nearest hundredth.

S\IN21:-0.%6

SN A= % ~0.9>

6. What do the sine values of the angles in Question 5 all have in common?

Nov 18-8:54 AM
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PG.598 IN YOUR BOOK

9. Use the right triangles shown to calculate the values of sin 30°, sin 45°, and sin 60°.

B E

4 fest 8,2 inches 8 inches

45° ]
A 4,3 fest c D  8inches F

10. A golf club has a club face angle A for which sin A = 0.45. Estimate the measure of £ A.
Use a calculator to verify your answer.

Nov 18-8:54 AM
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PG.599 IN YOUR BOOK

The cosecant (csc) of an acute angle in a right triangle is the ratio of the length of the
hypotenuse to the length of the side that is opposite the angle. The expression “csc A"
means “the cosecant of LA.”

B Whart do
I do if there's o
cosecant butron on
wy caleulator?
A c

1. Complete the ratio that represents the cosecant of £A.

csc A = length of hypotenuse
~ length of side opposite £ZA

1
sin A

2. Prove algebraically that the cosecant of A =

3. As the measure of an acute angle increases, the sine value of the acute angle increases.
Explain the behavior of the cosecant value of an acute angle as the measure of the
acute angle increases.

Nov 18-8:54 AM
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PG.600 IN YOUR BOOK

December 08, 2015

The inverse sine (or arc sine) of x is defined as the measure of an acute angle whose sine
s x. If you know the length of any two sides of a right triangle, it is possible to calculate
the measure of either acute angle by using the inverse sine, or sin" ' button on a

graphing calculator.

LE right triangle ABC, if sin A = x, then sin " x = m-A. _)

1. Inright triangle ABC, if sin A = 2 calculate sin 1[%} to determine mLA.

Es

2. Determine the ratio for sin B, and then use sin~"(sin B) to calculate m/B.

S
S\ﬂa- 25—

gm—“—‘-(-émb)"'sm | %6)

E): SIN™ ‘("2—‘5

3. Calculate m/B.

12

Dec 1-8:48 AM
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December 08, 2015

Finish pg.601-604 for homework. The following problems are
not in your book, so copy them down into your notes!

Use the sine ratio, the cosecant ratio, or the inverse sine to solve for x. Round each answer to the

nearest tenth.

1.

=

58 cm

11 ft

20 cm

Nov 18-8:54 AM

17 yd

P

25 yd

s0°

75 m
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Homework
Finish Lesson 8.3

Aug 24-2:00 PM
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